ol
S
Al
K

nJ
My

I
No

—

70

K
H__O
ol

@ x>-2x=0

® (x+2)2=0

0 @ (x-2)%2=0

® (x-2)(x-5)

® (x-1)2=4



A (x=3)(x+7) =09 & o}H?

TE=x= @ x=-3E=x=7

® x=-3F=x=-7 @ x=3F=x=-7



sfolet.

23

P¥-x-6=02 3

b4

]



il

o

® 3 A3 6 @ 8 3 10

D 1



5. (x-2)(x+6)=4F (x+a)? =>b° T2 Uepd o 4, b 9] G

“FobH?
@ a=-2,b=-20 @ a=2,b=-20
® a=2,b=20 @ a=-2,b=-10

® a=-2,b=10



- B
6. OIAPTEA x*+3x- 1—0—40H7}T\/_‘,’=_1EH,A,394§};—%7_‘;7_]—



7.



® 12 A 15 @ 18 B 21

D 9



9.

O H7]0flA] oAbkl A2 B Skt
)
Qy=2 ©y=4x-2
©® y=2x(x-1) @y:x%
@y:%(x‘i'l)(X—:f) @ y=(x+1)2-x2

=
3%
YR

-




10. ]:]-% _j_la]j—g—y = ax? 9/] JEHEO]E]' a 9’] %}\—O] 7]'

y}l @
©







2x2 O] A RE x Zo| WFoz 2t
boar gk k 9] e Foholet



13.

By



of o

1o

y=—2x?-8x-5 2] 17

? (B 27H)

B
™

fet.

S

@ otz =%

o}

A

T

a

73 (0,5) oA
@ A 2,3,4 AHEHS

®y=



M

2




© 2 © 3

@1




17.

AAx =45 Fo2 L FH (L, 1), (-1, —-15)E %
SFZ~ 0] A1 09
a1 fa RS

D y=x>4+6x-6 @ y=x>+8x-8

@ y=-x>+6x-4 @ y=-x>+6x-8

® y=-x>+8x-6



18.

s 5

i

2=7r

FAC= AR

D y=3+"+4
1
®y=Lieoapa

® o4 oxi1




19. oA AHA 22 - 2x~5—k = 02] 2] AE7F 1 AL o, A5k 9
gh& Tstofet.

B
ct



ol
ol

or
o
Iis

(2x-1)2=39]

<

70
)

s

]_

o]

20.

® 2 3 3 @ 4 B 5

D 1



,m2—|—n294

S}
=

m, n o]z}

S
=

09 &<

P4 22 52

<

21.

ol

® 29 A 36 @ 47 B 67

D 25



22, oA AA 6x* +ax+b=02] F 2ol 1, -2 L W, a-b O] G227

D =18 ® -6 B 6 @ 18 B) 24



23.

§IAlEo] 1 2l flo] Q= o] o] AR 3

36m 71 = .

A2 919 ¥

=
=]

r = Fokofet

Yk
=%



D y=3+2+1

@ y=-x2+3

S

~
o
=k ===
—
RV

@ y=3x2+2 ® y=-322+3

® y=-x2+4+2



yll

y=3z’+bz+c

\_J

TR

g ©

L
o
[

ol m, b, ¢ ¢



